B RREETBENFAESE
S HBIXIRIFE AT DEDA A —Y
A E%@%OL)B%EDI%%
B: %ﬁﬁﬁiﬂ%ﬁ% (AD8/10)
C: %ﬁﬁﬂ%@%ﬁk (Bm1/2, LR30BM

40% 20%

Y
D : pFEE&iBE (A—C)

SHENETDEED
A I EZEMOFANTIEE X XEREE 1,000,000MH
B : #EIEONKEE (ADS/10) 1,000,000 X8/10=800,000MH
C : #BEIE D8 (BMD1/2. LR30IZA) 800,000 X 1/2=400,000MH
FIRERZEEZ DITH
WhEDE = 300,000H
D : BFFERIBER 1,000,000 —300,000H="700,000MH

A ©1,000,000H
L
B: 800,000FF] (AMD8/10)
C: SOOIOOOFEI (Bm1/2. ER30ZMA)

50% 20%

Y
D : 700,0008 (A—C)

X REMORFRNTISEI. FERBACITERRECTEE VDL FNODIRLEE
SEMTEIEFBEREBNMEERRE CEE ULBALDDENEDE UTERE



